

Addendum #5

This Addendum #5 ("Addendum") specifies additional work to the visionLiveTM On-Premise Subscription Services Agreement executed by Vision Internet Providers, Inc., on January 20, 2014, ("Agreement"), between the City of Fort Lauderdale ("Client") and Vision Internet Providers, Inc. ("Contractor"). Client desires Contractor to perform work specified in Addendum #5 Scope of Services ("Scope"), attached hereto and incorporated herein by this reference.

- 1. Price: Contractor agrees to perform work in Scope for \$32,327.25.
 - A. Client agrees to pay Contractor as follows:
 - (i) An initial payment equal to 50% of the total cost;
 - (ii) A payment equal to 50% of the total cost upon completion of work in Scope.
- 2. All other terms and conditions of the Agreement shall remain in full force and effect.

IN WITNESS WHEREOF, the parties execute this Addendum #5 as follows:

ATTEST:	CITY OF FORT LAUDERDALE
Jonda K. Joseph, City Clerk	John P. "Jack" Seiler, Mayor
	Lee R. Feldman, City Manager
	Approved as to form:
	Senior Assistant City Attorney
	Client's Initials
	Contractor's Initials Page 1



WITNESSES:	VISION INTERNET PROVIDERS, INC.
	Ву:
Print Name:	Steven Chapin, President
Print Name:	ATTEST:
(Corporate Seal)	Ву:
	Print Name:
	Title:
STATE OF:	
COUNTY OF:	
, 2014, by Stever	ras acknowledged before me this n Chapin as president for Vision Internet Provider
	n Chapin as president for Vision Internet Provider
, 2014, by Stever	Notary Public, State of
, 2014, by Stever	Notary Public, State of (Signature of Notary Public) (Print, Type, or Stamp Commissioned
, 2014, by Stever	Notary Public, State of (Signature of Notary Public) (Print, Type, or Stamp Commissioned Name of Notary Public)

Page 2

Client's Initials_____

Contractor's Initials_____



Addendum #5 Scope of Services

FXE Portal with Responsive Design - \$12,560.25

A FXE Portal would provide the FXE with its own individualized and attractive homepage

This includes a unique navigation and design

that draws on a

team while maintaining a layout consistent with the main site to keep the subsite easy to use and navigate for your visitors. However, while there would be consistency in your websites

FXE Portal could have its own unique look and navigation structure.

The FXE Portal will provide the same functionality as your main City website since it will use the same backend and have the same interactive components. This means that there is a single Vision Content Management System (VCMS) where all content is stored. Through the use of the Approval Cycle each organization would have access to their own content but could also share content, such as calendar and news items.

Vision Internet will also migrate up to 25 pages of content into the FXE Portal; additional pages may be migrated for an additional budget. Additionally, we are including consultation meetings conducted via WebEx to ensure that the FXE Portal meets your standards. Please note that Responsive Design features are included with the FXE Portal.



Figure 1

Client's Initials_____
Contractor's Initials____



Content Migration - \$19,767.00

Vision Internet will migrate 750 additional pages of content to the City of Fort Lauderdale website. This is in addition to any content migration previously agreed upon in the Agreement referenced in Addendum #5.

Timeline and Cost Breakdown

We anticipate development of the FXE Portal will take between 8 to 12 weeks. We anticipate the content migration services described above will take 4 to 6 weeks. This schedule may vary based on participant decision times.

Services	Hours	Rate per hour	Budget	
FXE Portal with Responsive Design				
Consulting	15	\$134.36	\$2,015.40	
Project Management	13	\$134.36	\$1,746.68	
Design	13	\$124.41	\$1,617.33	
Design Production	22	\$94.55	\$2,080.10	
Dynamic Programming	21	\$134.36	\$2,821.56	
HTML Programming	9	\$84.60	\$761.40	
Quality Assurance	5	\$104.50	\$522.50	
Training/Documentation	8	\$124.41	\$995.28	
Content Migration				
750 pages of Content Migration (City of Fort Lauderdale website)	255	\$84.60	\$21,573.00	
Discount			\$1,806	
Total			\$32,327.25	

Project Notes

Please note that Vision Internet is a GSA Contract Holder, Contract Number GS-07F-0509W. Rates in this addendum are our GSA rates.

Contact

Questions regarding the above mentioned item can be referred to Project Manager Brian Mauleon.

Client's Initials	
Contractor's Initials	